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QUESTION 1

Your customer requires virtual machine mobility between two data centers, and they are pursuing a managed service.
Which solution would satisfy the customer\\'s requirement?

A. an EVPN service provided over IP

B. an L3VPN service

C. arouted service

D. an IPsec VPN service between CE routers

Correct Answer: B

QUESTION 2
Exhibit:
Referring to the exhibit, which two methods would be used by the designer of ISP E to ensure that traffic

between ISP C and ISP A will traverse through ISP B? (Choose two.)

Traffic destined
for ISP C
5P C Routes

ISP A ISPD

A. Apply the BGP import policy (to EBGP peers) on R4 anaVor R5 to adjust the local preference on the ISP C routes so
that the path through ISP B is more preferred

B. Apply the BGP export policy (to IBGP peers) on R4 and R5 to adjust the MED on the ISP C routes so that the path
through ISP D is less preferred.

C. Apply the BGP import policy (to EBGP peers) on R4 and R5 to modify the AS PATH attribute so that the path through
ISP D is less preferred.

D. Apply the BGP import policy (to EBGP peers) on R4 to adjust the ORIGIN for the routes received from ISP B to
unknown.
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Correct Answer: BC

QUESTION 3

Your organization maintains container-based applications hosted by two different cloud service providers.
You are asked to design a Layer 2 connection between the two cloud data centers. The data center
interconnect solution must support control plane MAC learning.

Which Layer 2 data center interconnect model satisfies this requirement?

A. L3VPN

B. L2VPN

C.VPLS

D. EVPN

Correct Answer: D

QUESTION 4

You are asked to design a BNG solution using MX Series routers You want to dynamically assign per-
subscriber configuration parameters using VSAs.

Which external service is required to accomplish this task?

A. DHCP

B. 802.1X

C. RADIUS

D. TACACS

Correct Answer: C

QUESTION 5
Exhibit: You are asked to ensure that most traffic that traverses your network is load balanced over all of the equal cost

links between the routers in your network. However, you must also ensure that traffic from ISP A that is destined for ISP
D must traverse the R1-R2-R3-R4-R5 path. Referring to the exhibit how would you accomplish this task?
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Traffic destined
forISPD
All hinks inside
ISP E have an
ISP A 1P B OSPF cost of 1 ISP C ISP D

A. Force the ISP A to ISP D traffic over RSVP-signaled LSPs.

B. Adjust the BGFs LOCAL PREF attribute to ensure that the raw IP packets follow the required path.
C. Adjust the OSPF metrics of each link so that the raw IP packets follow the required path.

D. Force the ISP A to ISP D traffic over LDP-signaled LSPs.

Correct Answer: A
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